6 Review for Test 2023.notebook

WARM UP - :

Chapter 6 Review - Get a
whiteboard to complete the review
problems. Be sure I can see your

work and answers so I can give you
feedback.

Let me know how you're feeling
today!

Nov 16-1:18 PM

1) Write in standard form, then classify by degree and #
of terms:

a) 5x°(3x - 7) b) (x*+ 3x)°
1a) 15x° - 35x° - Cubic Binomial

1b) x*+ 6x> + 9x° - 4th degree Trinomial

2) Write a polynomial function in standard form with zeros
at -4 with a multiplicity of 2 and O with a multiplicity of 1.

2 1
x(x+a) =x (xda) s

2) y=x"+8x"+16x

| \ Nol T

Dec 7-10:12 AM
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3) Use synthetic division and the given factor of (x+2) to factor
x* +4x° + x - 6 COMPLETELY.

2\ 4 I -6
-2 -4 ¢ / 5 >
| 2 -3 o — X 42%x-3 32'\
3) (x43)(x+2)(x-1) (x- O (+3)(x+2)

4) Use synthetic division to see if (x-2) is a factor of X" - 6x° - 27.
Is it a factor? Yes or No?
2l 0 -¢ O -27
2 4 -4 -8
| 2 -2 -4 735
4) No, since the remainder
isn't 0. The remainder is -35

Nov 16-1:30 PM

5) Use factoring to solve: .
5) x=43,%2 x'-Bx*-36=0 X33 %273 Xiz‘t
x“‘l)(X’*‘*):‘J -
((v(-%)(vd (¥ 4)
x*+3x°-4x-12=0
5) x=42,3

6) Find the zeros and state the multiplicity of each:

f(x) = (4x)(x - 3)* (2x + 5)* 0)x =0, x =3, x=-5/2
m1l m2 m. 3

Dec 6-12:10 PM

November 27, 2023
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7) State the end behavior, factor to find zeros
then sketch: y = -2x* + 12x° - 18x°
(= 6x +9)
(x-3)(%-3)
2% (x-3)”
=0 |X=3
8) One of the zeno'swf y = -2x* - 5x°+ 3 is -1,
What are the other two zero's? 8)
-y-2 -5 0 3 9 - (-24)
2 3 3
2 3 =3 ¢ v 232 [ 4-420)
, 2 2(-2)
- - +
2% -5X 21 (5
-4
Dec 6-11:09 AM

9) Use long division to divide:

X*+2x°+x-3 % (x-1)

9) x>+ 3x°+3x+4+1/(x-1)

Nov 16-1:35 PM
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10) Write a cubic polynomial that represents this graph.

A Y

9)

8 -7 -6 -5 -4 A-2 - 1\2 3 456 7

N
I ] RN S
o Ndh bbb BNt ¢ A N
< >

Nov 16-1:51 PM

HW Review Ch 6

WORKBOOK

pg 52:att part 2 111Sead

pg 53 Top Section 6.4 #3-9 Mid Practice 6.5 #1-9 odd
S5&asSETcole ¢

(
’; Sytheh e division

Nov 15-5:49 AM
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DAY 2

Nov 18-3:55 PM

WARM UP - Calculator Review

1) Find the zeros of:  y = 15x* - 11x% - 14x® 1)
Round answers to the nearest hundredth.

2) Find all the zero's.

2x* - 8x° - 6x2- 16x - 20 = 0 2)
3) Find a cubic equation, in standard form, 3)
with roots of 3i and 4.

4) Can (x-2) be a factor of x>+ 4x* - 6x + 7?2 4)

Why or why not?

Nov 13-10:04 AM
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check your answers:

Answer Key to-WB pg 52-53 5 tnthe calendar! Be sure lo-

Use synthetic division and the given factor to completely factor each polynomial function.

10 y =+ 32 - 13x - 15; (x +5) 11 y=x =3~ 10x+24; (x - 2) P
5] | 3 -13 -5 x*-2x-3 I =3 -0 24 2 *
’Jkﬁ 015 2 -z -24 ,F} 2.21 i”z #
| -2 -3 L& T

7. 2+ 132+ 17x-12=0
L8
£t 53,3302

Divide. xF-x -1,

s R Musru.se'n‘;'vva-
12, (68 +25° - 11x+12) + (3x +4) &
z e 7
2B

LOK" y 9% —ﬂ Ve @ =2

14, (x 30 0+ (o 3 3 4 9.
21 0B e =9 Coteir 2 3 2 4 L
V2 1 % e X3+3:%+ 3 +4 *. 2oy

15. A box is to be mailed. The volume in cubic inches of the box can be expressed as the

product of its three dimensions: V(x) = x* = 16x? + 79x — 120. The length is x - 8.
Find linear expressions for the other dimensions. Assume that the width is greater

than the height. _g] 1
x-5)(x-3Xx-8)

L B et HIo
T -e /b’%
X*-8x 15

13, @t +23+x-3)+ (x - 1)
Tox*

roots. (e 8)(x -2 ) (s 42:)

P

X’=5x%*+4¢ -20

5,2i

Atgebra 11 Page 52 4
N Facty i he left side of each tion. Th lve th tion.
Pragiiceié. —— ‘ ‘actor the expression on the left side of each equation. Then solve the equation.
S Dividing. P 4 A s-27=0 2. F+64=0
etermine whether each binomial is a factor of x° + 3x* — 10x — 24 1 4
g _ s32,% o = = =2/(z
Lx+a T V3 -0-24 . 3] 13 - -24 ‘ 3 xos2ra-0 XTFR,E 4 #-102+16=0 X TE2/Z x=21/2
- - 1 '/ ki
Y .—:—.‘L"%— Je= e : 5. x-8i=0 .x=%3, £3< L LA PR Sl -4
g e ] I ¢ e |© : i B
Divide using long division. N W
— g Solve each equation by graphing on your calculator. Where necessary, round to the
3 @ Ha-DEE-5) 4 (PHSE-3-)+(-D5 GO-2 -t () | nearest hundredth.
e -1l *1‘—? ,(7-,_,”‘*44‘—2_7 B™ “FerFoR T PHsPenoIs=0 B 12¢+ 14 58 x=4=0 9. 15¢'=11F + 142
+2 | X=
Divide using synthetic division. o —HFe, LG, Lk R
Malt 2
6. (P-83+17x—10)+(x-5) 7. @sP-x-9)+ (xPZ) !
i
X*-3w+2- X 3e-F + o ! iti
sl Ap ial eq with rational has the given roots. Find two additional roots.
Use synthetic divisi i {
¥ ivision and the Remainder Theorem to find P(a). 1. 2+3iand V7 2. 3-\2and1+43
8. P@W)=3-4d-Sr+a=2 9. PO)=x+62+10r+3a=-3 2-3. ~VF qelg. 1=G
a) 3 -4 =51 o 31 b lo3 3 Aiand6-i 4155 ot 2+M
P O P(-3)=of, 2451235 40 b+l S#(C  -2-1m
2 = - le [ CX o

Use the Rational Root Theorem to list all possible rational roots Ior each pnlynnmlﬂl eqllatmn
Then find any actual rational roots. Verify your roots using synthetic divisj

=433

Find a third-degree polynomial equation with rational coefficients that has the given number{

jon..
X 75f+h+3:0@

8. 6+ 102+ 5x=0

(z;—a?(x’+9
0. -7,i,=i

Nov 29-4:21 PM

OPTIONAL - WB pg. 54 - 55

Graphing Match Up in partners

Nov 16-2:06 PM



6 Review for Test 2023.notebook

November 27, 2023

» HOLIDAY
countaown

HW Review Ch 6 - Day 2

pg 846 - 1-310dd, 56-60 all

Nov 15-5:49 AM

EXTRA SLIDES

Nov 16-2:07 PM
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Remember: Higher Order Polynomials

LIST plq = GRAPH
Standard form
Degree
Name - monomial, binomial, trinomial Long Division
air pOwWe st be in the prao

Synthetic Division - always put
opposite sign in divisor, if given a
factor like (x-3)

Must divide by linear factor with
eading coefficient of 1

Calculator:
Look for zeros (x-intercepts)

either in table
(Calc)

or with 2nd Trace

N

POLYNOMIAL EQUATIONS

6.1-6.6

To Sketch:
Factor (if necessary),
find zeros and multiplicity
(bounces at even mult and
goes through at odd mult),
know end behavior,
sketch

If remainder is 0, then
original binomial is
indeed a factor!

KNOW The
Remainder

ERLLLLE You might be able to
factor the answer more!

Factoring to Solve:

x* - 14x? - 32 = 0 (quadratic in disguise)

3x® - 3x? - 60x = 0 (GCF first!)
x®+3x%-4x-12=0 (group 'em then GCF 'em)

Dec 6-11:10 AM

CHECK HW

|+

-

1+ iv7
9, —1, LV 10.

3
1, g LTIV 12. 2,

I+
S

13. +2, +V2 14. +2 +i
15, 0,3£3% 16. —6, +i
32.C 33.H 34.B 35. H 36. B

Nov 13-3:18 PM

November 27, 2023
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Aug 29-11:17 AM

Algebral ll

- NO Calculators - Part |
Clear Calc before and after and show me
2nd+712

N - Pencils only!

- After your test, watch both 3 minute video:

Good Luck!

Aug 29-11:17 AM
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